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The following lengths are the sides of a triangle, determine if it is a
right triangle?

40cm , 24 cm, 32 cm
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Page 34-35
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Homework Solutions  page 43 #4(a,b)
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Homework pg. 43 # 6-12 and Reflect

b. Does =018

06y 1, 30,37
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They are equal so it is a right

triangle.
2v*4 157
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They are equal so it is a right
triangle.
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They are not equal so it is not a
right triangle.
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They are not equal so it is not a
right triangle.
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February 22, 2023

#4(a,b)
#6 (a,c,f)
#7(a,f)
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They are not equal so it is not a
right triangle.
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They are e%alqgo it iz aright

triangle.
They are equal so it is a right

triangle.
They are not equal so it is not a

right triangle.
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They are not equal so it is not a
right triangle.
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They are equal so it is a right
triangle.
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Homework Solutions#4(a’b)
#6 (a,c,f)

7. Voes Jz o +*
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\ \ 5' G 266 +q 50 Pythagorean triple. a2
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’ 51‘ 225 + ’ﬁ L Pytgagorea?n triple.

152
l They are equal so it is a

They are equal so it is a
Pythagorean triple. Pythagorean triple.
They are not equal so it is not

'e) &51 3 b2+ q2 Pythagorean triple.
1225 A0IE] of)ogr  ypra2

93 33,4 1o+ 1LY
They are not equal so it is not 336|+

Pythagorean triple. They are equal so it is a
Pythagorean triple.
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Class/Homework Remember
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#9, #10, #1256g, #14
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Test 1 6
36 +13
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Unit 1:Square Roots & Pythagorean Theorem v 19
Tuesday, Nov. 29
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